N = 0l & At & Ml A

20148 = =0 & e H A4

SN HED
=S

X{ XH -
S =

&2 Al EH (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Fa=gn'3 39,024,163 35,220,764 3,803,399
= 17,481,000
& 125,000
< 1,962,700
Al 19,455,463
E2usd &3 5,998,020 4,360,743 1,637,277
& 125,000
Al 5,873,020
A& ZHI 85,000 85,000 0
ANE S 2ZEHI(AEZAZ) 85,000 85,000 0
202 04 Hl 30,000 30,000 0
04 =Xl 2t 0d dl 30,000 30,000 0
OANMAREZX GHANHI (AL A=)
30,000,000& =14 30,000
203 YR =] 55,000 55,000 0
03 A=A H I =AY 55,000 55,000 0
ONHZE ARETY (AETAR)
55,000,000& =14 55,000
=& FHI 1,355,760 1,025,330 330,430
= 125,000
Al 1,230,760
2E8S (2YCE) 2 X E 1,103,960 201,440 902,520
401 Al HIZ 201 8] 1,103,960 201,440 902,520
01 A& HI 1,100,000 200,000 900,000
O2E83(2E~T8) SEE(L=1.7kn B=8.0m)
1,100,000,000& * 14 1,100,000
03 A& =TI 3,960 1,440 2,520
OAIZ 2 I 1,100,000,000& *0.36/100 3,960
AYE=Z 2ZHA 251,800 421,010 A 169,210
& 125,000
Al 126,800
401 AIEHI L 2CHEI 251,800 421,010 A 169,210
& 125,000
Al 126,800
01 A& HI 250,000 418,000 A 168,000
OMEXE HgIHeB AHL=0.5km)
250,000,000& 14 250,000
= 125,000
Al 125,000
03 Al 2 0HHI 1,800 3,010 A1,210
OAIZ =TI 250,000,000% *0.72/100 1,800
sHEEZ JH| 1,893,320 1,208,640 684,680
OH21015(Eg~A2) &2 & . 2 302,160 402,880 A 100,720




SN AAD
MM CRDEY 25
@2 sHEE2 db| (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
401 Al HI L 2 0HHI 302,160 402,880 A 100,720
01 A& HI 300,000 400,000 A 100,000
OHEIS(EL~M=) &I A(L=0.65km, B=8.
Om) 300,000
> & XI0H & bl 300,000,000& =14 300,000
03 A& 20 b 2,160 2,880 AT20
OAN&E=20UbI 300,000,000 *0.72/100 2,160
HeH201S (Z=Z~2H ) & X 30,000 0 30,000
1 A& 8l 20| 30,000 0 30,000
01 A& HI 30,000 0 30,000
OHM201&(FE~2H ) & . ZH(L=1.8km, B=8.
om) 30,000,000& *14] 30,000
U055 (HE~HS) & . X 352,520 402,880 A 50,360
401 Al HIL 200 352,520 402,880 A 50,360
1 A& I 350,000 400,000 250,000
O2%U2055 (HS~HS) XA (L=1.0km, B=8.0
m) 350,000
> &€ XI0H I 350,000,000& =14 350,000
03 A& 2 0HH| 2,520 2,880 A 360
OAl& 20U 350,000,000& *0.72/100 2,520
29103s (sa~tet) &2 & 2 & 503,600 0 503,600
401 AIEHIL 20| 503,600 0 503,600
01 A& Bl 500,000 0 500,000
O2U1035 (St~ & Z X ZAH(L=0.88km,
B=8.0m) 500,000
> Al & H| 500,000,000& * 14 500,000
03 A& 20HbI 3,600 0 3,600
OAN&EL20UbI 500,000,000& «0.72/100 3,600
AX202S (HEHB~AUYE) &2 & TIH 503,600 0 503,600
401 Al HI L £ 0HHI 503,600 0 503,600
01 A& HI 500,000 0 500,000
OAZF2025 (HEB~AAS) LB A(L=3.4k
m B=8m) 500,000,000& * 14 500,000
03 Al& 201l 3,600 0 3,600
OAl& 20| 500,000,000& *0.72/100 3,600
sgIs(2XNs) 2 201,440 201,440 0
401 Al HIL 201 201,440 201,440 0
01 Al &bl 200,000 200,000 0
EH102&5 (BANS) &2 = E A (L=1.0km, B=8
.0m) 200,000




EXN: A4
MY CRUSY HE
G sHEZZ FH| (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
> Al & H| 200,000, 000& = 14! 200,000
03 Al 204 Y| 1,440 1,440 0
OA&EE0id] 200,000,000 x0.72/100 1,440
TE S22 2,663,940 2,041,773 622,167
=2 A2 309,270 309, 165 105
101 Q124 H| 7,110 7,005 105
04 JI2ZtHIZ22NEES 7,110 7,005 105
OE2(FTZ)WS ST A 1822
47 400& 15001 7,110
1T AIEHZ 2L 302,160 302, 160 0
Al & H| 300,000 300,000 0
o2t gl 300,000,000 x14l 300,000
03 AlIE 21| 2,160 2,160 0
OAlIE S0l 300,000,000 x0.72/100 2,160
sHEEZ2 SAE4 302,160 302, 160 0
401 Al HI L 2 0HHI 302, 160 302, 160 0
01 Al&H| 300,000 300,000 0]
OsHEEZ2 KRAES 300,000,000 x14! 300,000
03 AlE 201 Y| 2,160 2,160 0
OA& 20| 300,000,000€ x0.72/100 2,160
we AES 201,440 201,440 0
401 Al HI L £ 0HHI 201,440 201,440 0
01 Al& H| 200,000 200,000 0
Oy A2 200,000,000 *14! 200,000
03 Al&E 201 Y| 1,440 1,440 0
OAEE0Hdl 200,000,000 x0.72/100 1,440
024 EX 8 A 774,410 573,600 200,810
401 AlEHIZL 2 0HY| 774,410 573,600 200,810
01 Al&H| 770,000 570,000 200,000
OllEa EXBA(2E . SsHETZZR)
700,000,000 « 14! 700,000
N4 EXNRY 5 L 2FL4E
30,000,000 = 1A! 30,000
OZZEX MUHS 8 SII+42
40,000,000 14! 40,000
03 AlE 21| 4,410 3,600 810
OAI& 20| 700,000,000< *0.63/100 4,410
=2(2)8 Makzeg| 53,150 53,150 0
201 et | 53,150 53,150 0




-

e

a

s

2N AL
MY CRUSY HE
e &2 X2 (&
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| d| 21,600 21,600 0
O1 Lut=24| 21,600
DR2(2)SMA 2ETHX S22
390,000 10! X| 3,900
PR(Z)|SMY BH=Y Sg222
570,000 *10&! X| 5,700
D2(Z2)SMHA XSS =242
200,000& *55&! X| 11,000
> Xlotadl 2HIE MU E =42
1,000,000& x 14! 1,000
02 Z=22%H| 31,550 31,550 0
O3 A& Z&Hl |Aldl 31,550
D> XGtA DL AIEE RAESE
19,000, 000 = 1Al 19,000
D XIGHAI DL MO|otM2te| X A st 2
700,000 x12& 8,400
>Xotatdl AUsIIE 545 750,000 * 14! 750
DUNERYSEH= 600,000 = 14! 600
> XlotatDl ggtate s
1,600,000 = 14! 1,600
D> XotaI ASsEY 1,200,000 « 14! 1,200
ez S3MA 16,310 9,450 6,860
201 et Y| 11,510 4,650 6,860
01 AP 2t 2] H| 7,910 1,050 6,860
O3 g4 7,910
DREA KAAL MDA A B AL
70,0003 521 33| 1,050
DANTSARS BALY
70,000& x14021 x73] 6,860
02 =224 H| 3,600 3,600 0
O1 2222 2 HA 3,600
DEZHAZ ELY2T D=
300,000 x12& 3,600
202 04| 4,800 4,800 0
01 2Ll 4,800 4,800 0
OHEHE YR8 400,000 *12& 4,800
2 ¥ SHETS2 IS &M 302, 160 171,224 130,936
401 Al HI L £ 0HHI 302, 160 171,224 130,936
01 Al& B 300,000 170,000 130,000
O2E L SHEEZ2 AT M(88I =a) 300,000
> Al & H| 300,000,000 x4l 300,000
03 AlE £ 0HH] 2,160 1,224 936
OAlE S0t 300,000,000 x0.72/100 2,160




A R =y
A TRUSY &5
t¢elr &2 g2l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E2 QLAY EX & HUIAY 402,880 221,584 181,296
401 Al HIZ 201 Y] 402,880 221,584 181,296
01 A& HI 400,000 220,000 180,000
OZ=ZHEAIE X L FHIA(158IHA)
400,000,000 =14 400,000
03 AlE 2 THHI 2,880 ,584 1,296
OAl &= HHI 400,000, 000% *0.72/100 2,880
T2AE RANE+ 302,160 ,000 102, 160
401 Al HIZ 201 8] 302,160 ,000 102, 160
01 A& HI 300,000 ,000 100,000
O28HsS A7 2AE SN E=HI
300,000,000& 14 300,000
03 A& =TI 2,160 0 2,160
OAIZ 2l 300,000,000% *0.72/100 2,160
=l = 1,340,252 733 A 15,481
< 240,000
Al 1,100,252
S = 80,000 0 80,000
= 40,000
Al 40,000
ZH2E SFFH 20,000 0 20,000
< 10,000
Al 10,000
401 AIEHI L 2 CHYI 20,000 0 20,000
< 10,000
Al 10,000
01 A& HI 20,000 0 20,000
OZZdH2Z2 s#ZFH ME (55 2 40HAD)
20,000,000 * 14! 20,000
< 10,000
Al 10,000
QIJIE FAHEANMH 30,000 0 30,000
< 15,000
Al 15,000
401 AIEHI L 20 30,000 0 30,000
< 15,000
Al 15,000
01 A& HI 30,000 0 30,000
OZeIIE FAHEEME ALY
30,000,000 =14l 30,000
= 15,000
Al 15,000
TR0 =HEH FH 30,000 0 30,000
< 15,000




SN AL D
o ARy Ny

- o =

CHRl: X<y et (2 &HH)
4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 15,000
401 A& HIZL 2 0HY| 30,000 0 30,000
& 15,000
Al 15,000
01 Al& b 30,000 0 30,000
O=22U =H SHEH A
30,000,000 x1A! 30,000
= 15,000
Al 15,000
FOI=RAAY 1,260,252 1,355,733 N95,481
= 200,000
Al 1,060,252
AR W Jl- 201,440 300,000 A 98,560
401 AlEHIZL 2 0HY| 201,440 300,000 A 98,560
01 Al&H| 200,000 300,000 A 100,000
OXNAEH otatg| S2EE Q4 Az AXZ2AH
[=10.0m, B=5.0m) 200,000,000 x14! 200,000
03 AlE 21| 1,440 0 1,440
OA& 20| 200,000,000¥ x0.72/100 1,440
FO0I=SH HAAY 658,812 915,733 A 256,921
401 Al HI L £ 0HHI 658,812 915,733 A 256,921
01 Al& B 655,000 910,000 A 255,000
OEAM=21W QIEIHAE 2 AH(L=38m, B=1.5m)
140,000,000 = 1A! 140,000
OR2ag Btiel 2aotEe dHAEXZ2AH(SH2
HA) 60,000,000 * 14! 60,000
OAxH &2 280502 & 2 AHL=300m
B=4m) 50,000,000 = 14! 50,000
OSMH ot=E22 S2S0IS0HY ZTHZ2AH(L=4
00m, B=4m) 80,000, OOOOJ*V\' 80,000
OB2d HaAe =2 & X 2AHL=180m 6006
00) 30,000,000 14! 30,000
OFeHH 2H 12 SS0SoH2 DML 2 AL
=600m, B=3m) 60,000,000 x1A! 60,000
OHelH == 12| HotitsSet2 HHl = AH(L=330
m, B=5m) 50,000,000 x1A! 50,000
OEgH AMI2 &8s s28Z2 & ¢ i3 &
Xl 2 AH(L=200m, B=4m) 60,000,000 x1A! 60,000
OutEH A=22 Zil=E &AZ2 I 2 AHL=80m
Hi =2 14!) 50,000,000 14! 50,000
OdNEdH s&e 20/0tSeHY AM LI Z2AHL=
150m, B=4m) 30,000,000 14! 30,000
OalsdH Z2&e osotSer2 Ad| =2 AH(L=400m
, B=4m) 45,000,000 = 1A! 45,000
03 Al 20| 3,812 5,733 A 1,921




2N
X ZH -
L= B
el

M
e e mx

»H s
HO ogr

He
At

(]
=

SA -

Ha - el (3H) -

N2 A

B2

Off &t 24

=

i
2m

605,000, 000& x0.63/100

3,812

Al

200,000

100,000
100,000

200,000

401 AIEHIR R

Ch ol

Al

200,000

100,000
100,000

200,000

01 A& HI

OR2 o2l 4= Ha2AHL=7m, B=6m)

200,000,000& » 14

t

Al

200,000

200,000

100,000
100,000

200,000

HOHAXNZ? 52 & =2 FHI3A

H

Al

200,000

100,000
100,000

200,000

401 AIEHIR R

Ch bl

= M

200,000

100,000
100,000

200,000

01 A€ HI

1.5km)

O&gY MWXNXNF s=2

2 =2 FHIBAHL=
200,000,000& * 14l

=

200,000

200,000

100,000
100,000

200,000

fel]

b
o
o
=
x

= N H

,012,338
,981,000
,419,000
,612,338

23,881,423

3,130,915

otd EH

= Hn W

,275,791
,855,000
,419,000
,001,791

16,343,373

2,932,418

StETHoH Ol (B X

)

= Hn

775,791
,640,000
,419,000
716,791

14,543,373

3,232,418

401 AIEHIR R

CHal

= Hn

775,791
,640,000
,419,000
716,791

14,543,373

3,232,418

01 Al& b
OK=&

O=xd

XH oH O & AF

H off il 2 At

5,401,000,000& » 14

7,834,000,000% * 14

= M W

Mo

,735,000

5,401,000
3,240,000

432,000

, 729,000

7,834,000
4,700,000

627,000

14,510,000

3,225,000




2N AL
dM: GtdEE e
& ot Fl (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 2,507,000
Ost& THOH Ol AL 4,500,000,000& » 14! 4,500,000
= 2,700,000
< 360,000
Al 1,440,000
03 Al 2 THHI 40,791 33,373 7,418
OAIZ =TI 17,735,000,000& *0.23/100 40,791
A0td FHZSEAHE(HE )+ 9 150,000 300,000 A 150,000
401 Al HIZ 201 Y] 150,000 300,000 A 150,000
01 A& HI 150,000 300,000 A 150,000
ORFA 2GHFHSSAE(HH)4S 89
150,000, 000& * 14! 150,000
A=A AR ELZEX(H) ALY 1,350,000 1,500,000 A 150,000
= 1,215,000
Al 135,000
403 Ut SHHSA=0l& 1,350,000 1,500,000 A 150,000
=2 1,215,000
Al 135,000
02 BJ| 2SOl CH ek CH & At & HI 1,350,000 1,500,000 A 150,000
OREH 4F ELTEX(Y) MY
1,350,000,000& 14 1,350,000
= 1,215,000
Al 135,000
Aotd El 6,170,654 5,988,383 182,271
= 2,942,000
Al 3,228,654
Aot EHIALY 5,898,710 5,595,575 303, 135
= 2,942,000
Al 2,956,710
401 Al HI L =2 Tl 5,898,710 5,505,575 303, 135
= 2,942,000
Al 2,956,710
01 A& HI 5,884,000 5,581,620 302,380
UE ACHE FBIALE
1,500,000, 000& 14 1,500,000
= 750,000
Al 750,000
Old== A0HA HUlAY
1,368,000,000& 14 1,368,000
= 684,000
Al 684,000
O2cl8 ActE HUlAY
1,700,000,000& 14 1,700,000
= 850,000
Al 850,000
OZal A%td FHIAY 700,000,000 » 14! 700,000
= 350,000




EXN: A4
N GIEEA WA
cHe: AotE A (2 &HH)
2 S 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 350,000
Odld A3 HBIAIE 616,000, 000& = 14! 616,000
= 308,000
Al 308,000
03 Al 201 Y| 14,710 13,955 755
OAEE0idl 5,884 ,000,000& x0.25/100 14,710
AotEAE X2 EH| 271,944 392,808 N 120,864
401 AlEHIZ £ 0HY| 271,944 392,808 N 120,864
01 Al&H| 270,000 390,000 A 120,000
ORug Aot Asld AE X R2AEH ALY (L=130
m, H=3m) 30,000,000 14! 30,000
OALx=H Sl=PA0ld E X R2AEH ALY (L=100
m, H=4m) 30,000,000 14! 30,000
OSMH datAadtd A X2 AHIAFY (L=200m,
H=2m) 30,000,000 14! 30,000
OXNEH EActA AE X 2AHIAFY (L=100m)
30,000,000 14! 30,000
O823H ot Adtd A X 2AHIAFY (L=150m,
H=2.5m) 30,000,000 14! 30,000
OFHehH DEAGHA S XN2ABI(L=150m, H=2
.5m) 30,000,000 14! 30,000
OEYH 2 UOXASHE RS X 2FHY A (L=1
00m, H=4m) 30,000,000 14! 30,000
OTteEH IdEA6ld e X 2EH ALY (L=230m)
30,000,000 14! 30,000
OAlelH MelxlAotd 2 E XA ALY (L=200
m, H=2m) 30,000,000 14! 30,000
03 AlE 201 Y| 1,944 2,808 A\ 864
OA& 20| 270,000,000¥ x0.72/100 1,944
ofd | Xzl 1,565,893 1,549,667 16,226
=2 1,184,000
Al 381,893
ol RANE% 351,523 233,923 117,600
201 LBt | 11,523 11,523 0
02 Z2=2=24%4| 11,523 11,523 0
O1 222 2 HA 5,523
DE2AlE 848 MRS
50,000 «7J1 A+ 12€ 4,200
DOUOSHEXUY SHHMEESS
80,000& =1L *23] 160
DO=2XX 2 NHSIHM(HY 10% 1)
600,000< =1CH *13] *90/100 540
DOZSAEXNE HZZEA =2 23,000& 104 23
>DUOSHE & BES 600,000 «1CH 600
O4 X erd| 6,000




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
PUSEXNE F 2 =24
6,000,000 » 14! 6,000
401 Al HIZ 2018 340,000 220,000 120,000
01 A& HI 340,000 220,000 120,000
Oot&E Mot olY = Xl22ldl(L=50kn)
1,000,000 *50km 50,000
OAcHATHOH 0l'Y = Xl 22l dl (L=100km )
700,000 »100km 70,000
Od=& .88 KA
100,000, 000& * 14! 100,000
Ostd =4l 70,000,000 * 14! 70,000
Oaotd =&l 50,000,000 =14 50,000
=(3)% Marze 30,370 16,390 13,980
201 £B-2dH| 10,370 16,390 A6,020
01 At 22l 10,370 16,390 A 6,020
O1 Let==ZH| 10,370
>PRTIML SSHX SPL4E
246,000& x 102 X 2,460
PHERX 2gs8+=+8
246,000& x 102 X 2,460
PR(Z)|MA BAH=Y SZ222
370,000& x10& X 3,700
D= PAE =2 50,0003 352 X 1,750
405 XtatE SHI 20,000 0 20,000
01 XA = ZFH SHI 20,000 0 20,000
O2=d EXZ2E HEIN(EE)
20,000,000 = 1CH 20,000
=Jtotd | X 2el 1,184,000 1,299,354 A 115,354
= 1,184,000
201 et 44,000 30,000 14,000
= 44,000
01 At 22l 20,000 30,000 210,000
o6 21z 20,000
D=Iotd =X 2el ZHXS
20,000,000& =14 20,000
= 20,000
02 =224l 24,000 0 24,000
O1 2323 2 HMA 24,000
D=Jtotd i+=8& &JIes=
24.,000,000& » 14! 24,000
= 24,000
401 A& HIZ 201 8] 1,140,000 1,269, 354 AN 129,354
= 1,140,000
01 A& HI 1,140,000 1,264,800 A 124,800




EXN: A4
u: otEey
&2 ol |X2el (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O=2JIotE AIE2 X222
1,140,000,0002! *14! 1,140,000
= 1,140,000
MW £ HEMA 2= 3,322,350 4,366,350 A 1,044,000
= 1,500,000
< 303,700
Al 1,518,650
Metidl E22HAH 25 3,322,350 4,366,350 A 1,044,000
= 1,500,000
< 303,700
Al 1,518,650
AP THoHE &Y HE 8,400 8,400 0
201 Bt 8,400 8,400 0
01 AP 22| H| 8,400 0 8,400
O3 24 8,400
DANHHE SN BER RG] ALY
70,0002 %1501 x83| 8,400
Mol A& OHH & S22+ 17,450 17,450 0
201 LBt 9| 6,490 6,490 0
01 AP 22| d| 2,490 0 2,490
O1 LBt=24| 2,000
DEIICHMZE A (HEZ2L)
2,000,000 14l 2,000
O3 2gx4 490
DALY E8 ZAH MARR S
70,000 x721 x13] 490
02 Z2=2=24%4| 4,000 0 4,000
O1 2222 ¢ HMHA 1,500
Det=22 e s AHS | 1,500,000 = 14! 1,500
O3 AIE & HI KX HI 2,500
D2 RAE S| 2,500,000& 14! 2,500
202 o4 | 960 960 0
01 2Ll 960 0 960
O2U=&0dl 960
>IMoHAIECHEH S 223 80,000& x12& 960
206 M = Hl 10,000 10,000 0
01 T2l 10,000 0 10,000
Ox=YXM H = 10,000, 000 = 1Al 10,000
KHGH Ol & AF 25,000 25,000 0
302 Ol =L THAHE A 2 24,000 24,000 0
02 QI2tol THOl 2 &t 2 24,000 0 24,000
OMHX &= 4,000,000 63| 24,000




2N A4
I e 2 HSHM 2=
Sel: WHUH S22 #5

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
303 Z& 3 1,000 1,000 0
EXE 1,000 0 1,000
OB40f 2EIHY P42A ZY
1,000,000& 14 1,000
AL 24 18,000 18,000 0
307 glz2tol & 18,000 18,000 0
02 QIZtFAE XS 18,000 0 18,000
OPNR:-PAE=2- P\ k= 18,000, 0002 14! 18,000
THoHCHEl MF X S X 2el 35,000 35,000 0
201 Lt 35,000 35,000 0
02 =224l 35,000 0 35,000
O1 3322 ¥ HMA 10,000
DRLMEBX - BHEZE 3L 2 ST
1D M3 10,000,000 * 14 10,000
O3 A& ZHl s Xl 25,000
DRSMFX A2 25,000,000 * 14! 25,000
E+NEEAL(Z4I) 18,500 15,500 3,000
< 3,700
Al 14,800
201 Let2d] 18,500 15,500 3,000
< 3,700
Al 14,800
02 2324l 18,500 0 18,500
O1 3322 ¥ HA 18,500
DPE+HEE 18,500, 000& 14! 18,500
< 3,700
Al 14,800
BHEXF MBYEASE XA UMY 200,000 1,500,000 A 1,300,000
401 Al HIZ 2018 200,000 1,500,000 A 1,300,000
01 Al gl 200,000 0 200,000
OBEXT MOILTIBX FHl A (A=2,987
m ) 200,000,000& 14 200,000
0 Mo E X7 ZHIA 3,000,000 0 3,000,000
= 1,500,000
< 300,000
Al 1,200,000
401 A& HIZ 201 Y] 3,000,000 0 3,000,000
= 1,500,000
= 300,000
Al 1,200,000
01 A& HI 3,000,000 0 3,000,000
O3 MHolRAZ X+ HHIALY
3,000,000,000& 14 3,000,000




2N A4
I e 2 HSHM 2=

e MUt E2AHA 25 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 1,500,000
= 300,000
Al 1,200,000
HEES=(A-L) 1,235,319 1,144,460 90,859
WEAHAHXI= 1,235,319 1,144,460 90,859
Mer2e| o2 852 1,235,319 1,144,460 90,859
702 D128 =2 1,235,319 1,144,460 90,859
[PIERSE = 1,235,319 0 1,235,319
Ot IIZ2 852 1,235,319,000& « 1Al 1,235,319
HE2AFAY (HE W) 115,884 112,055 3,829
ol (HA ) 52,524 48,305 4,219
ol =AY 52,524 48,305 4,219
101 Q124 H] 52,524 48,305 4,219
01 2 52,524 45 771 6,753
OAZt224% 8,754 %2001 «300A| 2+ 52,524
Jl2Z 8 (A& ) 63,360 63,750 A 390
Jl2 &4l 63,360 63,750 A 390
201 LBt 9H]| 42,660 41,850 810
01 AP 22| d| 32,400 32,400 0
O1 get==2H| 25,260
DENSIELEH| 1,280,000 x12& 15,360
DHOIMERH EHEH
300,000 11 *33] 9,900
O5 &4 7,140
DOof2H. 522 7,000 x1721 %53 x12& 7,140
02 E2=2=24%H| 10,260 9,450 810
O1 2222 2 HA 10,260
PRER2 1,900& 4504 12& 10,260
202 o4 H| 13,200 14,400 A 1,200
01 2L I 13,200 14,400 A 1,200
OJIEde2=3 0| (17¢2!) 1,100,000 x12& 13,200
203 € R F & 7,500 7,500 0
01 JI22HYRFAH| 3,300 3,300 0
OHEZ A ZE 3,300,000 «10l 3,300
04 FEASHELIFFEH| 4,200 4,200 0
ORI ELEF=8H| 350,000 x12& 4,200




